4 | 3 2 | 1
o
=)
i
=
¢
Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name Part Code Document Type Material
Jam Jar Sealer Al ASSEMBLY
Open Source Ecology e.V . License File Name Version Quantity
Knobelsdorffstr. 22 Practical i am-iar- i
ST CERN-OHL 0seg_jjs_A_jam-jar-sealer.iam 1.0
www.ose-germany.de ABTI 0 N Scale Sheet Date
+49 (0) 30 / 92282426 1:2 1 03.11.20
4 I 3 4& 2 I 1




w

| 115 |
| l
T [
66— =
|
SECTION A-A " ~_ |
LN
SCALE 1/ 2 T ><—><
Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name Part Code Document Type Material
Jam Jar Sealer A2 ASSEMBLY
Open Source Ecology e.V . License File Name Version Quantity
nobelsdorffstr. Pl" l l 1] 1 1 i
il 2 actical |~ cppN-OHL | oseg_jis_A_jam-jar-sealer.jam [ 1.0
www.ose-germany.de ABTI 0 N Scale Sheet Date
+49(0) 30 /92282426 1:2 03.11.20
4 I 3 4& I




4 | 3 4 | 1
PART LIST
POS|P.OLD|QTY PARTE FILE NAME PART TYPE ESPECIFICATION Sheet

1 |Assembly oseg_jjs_Al_jam-jar-sealer.iam Production 1

1 |Assembly 2

1 |Part List oseg_jjs_B_parts-list. Part list 3
1 1 |Cylinder oseg_jjs_1_Cylinder.ipt Production 5
2 1 |Insert for cylinder oseg_jjs_2_Insert for cylinder.ipt Production 6
3 1 |Plunger oseg_jjs_3_Plunger.ipt Production 7
4 1 |Handle frame oseg_jjs_4_Handle frame.ipt Production 8
5 1 |Handle oseg_jjs_5_Handle.ipt Production 9
6 1 |Handle cover oseg_jjs_6_Handle cover.ipt Production 10
7 1 |Heavy Hex Nut - M12 x 1.75 |ANSI B18.2.4.6M - M12 x 1.75 - 0.ipt |Standart Heavy Hex Nut - M12 x 1.75
8 1 |Compress Springl oseg_jjs_8_Compress Springl1.ipt Buy 11
9 4 |Hexagon head bolt - M6 x 30 |ISO 4014 - M6 x 30 - ISO.ipt Standart Hexagon head bolt
10 4 |Plain washers-Small ISO 7092 - ST 6 - 140 HV.ipt Standart Plain washers-Small

Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name Part Code Document Type Material
Jam Jar Sealer B1 Lst Part
Gt practical | "o |
mecernse AGTION P L
4 I 3 i} I 1




Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name Part Code Document Type Material
Jam Jar Sealer 1 ASSEMBLY
Open Source Ecology e.V . License File Name Version Quantity
Knobelsdorffstr. 22 Practical i ; ; ;
e CERN-OHL 0seg_jjs_A_jam-jar-sealer.ipn 1.0
www.ose-germany.de ABTI 0 N Scale Sheet Date
+49(0) 30 /92282426 1:2 4 03.11.20
3 4& I




\—3.0 X 11.0°
Chamfer

\ o N
NN J— - 4O N
S8 IS8

--— 46 55
100
v
Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name Part Code Document Type Material )
Cylinder 1.1 Part Steel, Mild
Open Source Ecology e.V o License File Name Version Quantity
Knobelsdorffstr. 22 Pl‘actlcal 11 i i
e CERN-OHL oseg_jjs_1_Cylinder.ipt 1.0 1.0
www.ose-germany.de ABTI 0 N Scale Sheet Date
+49 (0) 30/ 92282426 1:1 5 03.11.20

I ‘ 3 4& 2 | 1




3 ¥ 2 | 1
B
- Mé6x1 ‘
6H Vv 12.0
‘@ ~ \K LLL ’
* 1 1V
s
1.0 X 45.0°
@70 Chamfer
@42
(o]
i
S8
é; | V4
— |74
~ s
-— _/
B M6x1 —— 26 —=— 19—
6H ¥ 12.0 45
SECTION B-B
SCALE1:1
Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name Part Code Document Type Material
Insert for Cylinder 1.2 Part Steel, Mild
Open Source Ecology e.V . License File Name Version Quantity
fgg;';iflrifnfswgy Practical | gpn-oHL osleg _j?s_Z_Insert-for-Cylinder.ipt 1.0 1.0
WWW.0Se-germany.ae Sh D t
+49 (0) 30%92282\;26 ABTI“N scale 1:1 GEtG %§.11.20
3 4& 2 I 1




3 §|7 |
@66
4 ] !
S 30— R3 f
S§
=
77 10
87
Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name Part Code Document Type Material )
Plunger 1.3 Part Steel, Mild
Open Source Ecology e.V . License File Name Version Quantity
Ezggsléir:l:;fstr 22 Pl‘actlcal CERN_OHL oseg_J]s_3 _Plungeert 1.0 1.0
www.ose-germany.de ABTI 0 N Scale Sheet Date
+49 (0) 30/ 92282426 1:1 7 03.11.20

3

3




10

R10

10

B B 365 365 | _ T
+00 e o @&+ 8
T @7 B B l
| | |
o o
P E— 56 "
| | ‘ | |
& L1 © L1
/ 1
Rl{ _Ri5
@/ B
_’_6_‘_ — s—
& = 115
A
Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name Part Code Document Type Material )
Handle frame 1.4 Part Steel, Mild
Open Source Ecology e.V . License File Name Version Quantity
Ezgggléir:lzgfstr, 22 Pl‘actlcal CERN _OH L Oseg_J] S_4_Hand|er-frame. |pt 1. 0 1 0
www.ose-germany.de Scal Sheet Date
+49(0) 30%92282226 ABTI“N e 1:1 03.11.20
I 3 4& I 1




3 4 2 |
@16 1 g x 45.0°
Chamfer 1.0 X 45.0°
Chamfer
\ [t o1 Y. i s el
=——‘— _—_—_4J Ln_—_—_ ‘———=
\J Méx1 —"" "~ M6x1
6H 6H
¥ 12.0 102 v 12.0
Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name Part Code Document Type Material )
Handle 1.5 Part Steel, Mild
Open Source Ecology e.V . License File Name Version Quantity
Ezgsgléir:lri;fstr, 2 Practical CERN-OHL oseg_jjs_S_Hand|e.ipt 1.0 1.0
www.ose-germany.de Scal Sheet Dat
+49(0) 30%92282226 ABTI“N e 1:1 = 30%.11.20
3 4& 2 I




@20
— —_—— — S — —
@16
102 VA
Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name Part Code Document Type Material )
Handle cover 1.6 Part Steel, Mild

Open Source Ecology e.V . License File Name Version Quantity
Knobelsdorffstr. 22 Pl‘actlcal 11 - i
S CERN-OHL o0seg_jjs_6_Handle-cover.ipt 1.0 1.0
www.ose-germany.de ABTI 0 N Scale Sheet Date
+49 (0) 30/ 92282426 2:1 10 03.11.20

4 I - 3 4& 2 | 1




3 4 2 | 1
B?25
50
() / / / / {
| ] [
@2
/- / /. J / /. J
Proyect Created by Approved by
Jam Jar Sealer D. Mosquera D. Jeager
Part Name . Part Code Document Type Material )
Spring 1.7 Part Steel, Mild
Open Source Ecology e.V . License File Name Version Quantity
fZS?S'Eifﬁfnm b)) Practical CERN-OHL oseg_jjs_7_Spring.ipt 1.0 1.0
www.ose-germany.de ABTI 0 N Scale Sheet Date
+49 (0) 30 / 92282426 11 03.11.20
3 | 1

3




